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QUESTION 1

Earth is made of several layers.

Which makes up most of Earth\\'s volume?
A. the outer core

B. the inner core

C. the mantle

D. the crust

Correct Answer: C

QUESTION 2

The brainstem connects the brain to the
A. heart

B. lungs

C. neck

D. spinal cord

Correct Answer: D

QUESTION 3

All of the following are domains except
A. Regelia

B. Eukarya

C. Bacteria

D. Archaea

Correct Answer: A
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QUESTION 4

The temperature at which a solid becomes a liquid is its
A. melting point

B. boiling point

C. freezing point

D. concentration point

Correct Answer: A

QUESTION 5

A 1-kilogram mass is dropped from a height of 1 meter.
Its kinetic energy just before it hits the ground is

A. 1 joule

B. 10 joules

C. 100 joules

D. 1,000 joules

Correct Answer: B

Explanation:

Gravitational potential energy is converted to kinetic energy. The kinetic energy is equal to the mass of the
object times the force of gravity times the height.

Thus, mgh = 1 kilogram x 9.8 meters/second x 1 meter = (approximately) 10 joules.
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